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১) কমেবিশ২০০�টশে�রমেধ�রচনা�টেলেখা। 

েতামারি�য়েখলা।         ১৫ 

২) "তা পরী�া কের েদখিছ। " 

ক) ব�া েক?  খ) কােক বলেছ?  গ) কী পরী�া করিছল? ঘ) ব�া কেব, েকাথায় জ��হণ 
কেরন?  

ঙ) তার িপতামাতার নাম েলেখ।চ) ব�া েমলা েথেক কী িকেনিছল? ছ) ব�ার ��র কী নাম 
িছল?  

জ) তারঁ �িত��ত �িত�ােনর নাম েলেখা।ঝ) িতিন কেব েদহত�াগ কেরন?         
২+২+২+২+২+২+২+২+২+২=২০ 

৩)' িতিনই ব�াির�ার বাবু।' 

ক) িতিন েক?  খ) িতিন কী উপকার করেলন?  

গ) িতিন কেব েকাথায় জ��হণ কেরন? ঘ) তারঁ বাবার নাম েলেখা।                                     
২+২+(২+২)+২=১০ 

৪) বাক�রচনা কেরা।          
 ৫×১=৫ 

েকাট�,  সভা, কৃপা, েচক, সাহসী 
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SECTION-I (25MARKS) 
Attempt all the question 

Q1. Choose the correct option:       (1x5=5) 
A) Loss of water as droplets from hydathods is called 
(a) Transpiration (b) Bleeding  (c) Guttation 
B) High humid conditions in the environment will 
(a) reduce the rate of transpiration (b) increase the rate of transpiration 
(c) not change the rate of transpiration (d) stop the process of transpiration 
C) Most of the transpiration in plants is carried out by 
(a) lenticels  (b) cuticle  (c) roots  (d) stomata 
D) Emasculation is the process of  
(a) removal of pistil    (b) removal of calyx     
(c) removal of petals    (d) removal of anthers 
E) pollen grains are light and dry in 
(a) anemophilous flower (b) hydrophilous flower  
(c) entomophilous flower (d) zoophilous flower  
Q2. Fill in the blanks:         (5x1=5) 
a) The excess water within a plant is transported to the __________ for 
transpiration. 
b) The transpiration rate decreases in still air because of ________. 
c) ________ plants are living in dry and hot condition. 
d) __________ pollination requires an external agent. 
e) The flowers having only stamens are called ___________ flower. 
Q3. State whether the following statements are true or false:   (1x5=5) 
a) Plants loss excess water in the form of water droplets. 
b) Both the surfaces of leaves contain abundant stomata. 
c) Pollination in hydra takes place with the help of wind. 
d) Prostate gland enhances motility and fertility of the sperms. 
e) Transpiration creates a suction force that causes the absorption of water by roots. 
Q4. Match the following:        (5x1=5) 

a. Testis i. petals 
b. Corolla ii. vallisneria 
c. Hydrophilous plant iii. cooling effect 
d. Transpiration iv. tissue 
e. Zylem v. scrotum 

Q5. Name the following:        (5x1=5) 
a) Exact location of stomata. 
b) Plants grown in the desert. 
c) Loss of water in the form of water droplets from the margin of leaves. 
d) Pollination by insects. 



e) Male sex cells. 
SECTION-II (25MARKS) 

Answer the following questions 
Q6. a) Write down the disadvantages of transpiration. 
b) What are internal factors that affecting transpiration?  3+2 
Q7. a) What is the function of cuticle? 
b) Do plants loss water through lenticle?    3+2 
Q8. a) Give the difference between autogamy and geitonogamy. 
b) Write the characteristics of insect pollinated anthers.  2+3 
Q9. a) What is double fertilization? 
b) Why is double fertilization called triple fusion?   3+2 
Q10. Given below is an experimental set-up to study a particular process. 5 
(i) Identify the process being studied. 
(ii) Explain the process named in (i) 
(iii) Why is the pot showing water drops after some time? 
(iv) Mention one advantage of this process to the plants. 
(v) According to you what can be the suitable control for this experiment.  
 
  

 
 
 
 
 

_________________ 
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Question 1. Explain the following:       (2x10=20) 
a) Solids cannot be compressed. 
b) A liquid can flow and takes the shape of the container in which it is poured. 
c) Gases have neither a fixed shape nor a fixed volume. 
d) Law of conservation of mass is followed during burning of a magnesium ribbon. 
e) Inter conversion of states of matter is carried out by changing temperature and 
pressure. 
f) A gas can fill the whole vessel in which it is enclose. 
g) When sodium chloride is added to a definite volume of water and stirred well, a 
solution is formed, but there is no increase in the level of water. 
h) A piece of chalk can be broken easily into smaller pieces while a coal piece can’t 
be broken easily. 
i) Gases have maximum kinetic energy. 
j) Robert Brown observed that the pollen grains were moving in an irregular 
manner. 
 
Question 2. Define:         (1x10=10) 
a. Sublimation f. Inter conversion of the states of matter 
b. Deposition g. Law of conservation of mass 
c. Brownian motion h. Liquefaction 
d. Matter i. Fusion 
e. Condensation point j. Fluids 
 
Question 3. Differentiate between solid, liquid and gas on the basis of— (5x1=5) 
a. Intermolecular force of attraction. b. Fluidity  c. Shape d. Inter particle 
space  e. Compressibility 
 
Question 4: Choose the correct answer:     (5x1=5) 
a. Particles of the matter have following characteristic: 
(i) They constantly move   (iii) They are very small 
(ii) They attract each other    (iv) All of the above 
b. Diffusion in liquids is an example of 
(i) Smell and perfume    (iii) Spreading of in water 
(ii)  Smell of food    (iv) Fragrance of incense stick 
c. Name the particles which make up matter: 
(i) Non-metals     (iii) Metalloids 
(ii) Metals      (iv) Atoms 
d. The melting point of a solid is an indication of 
(i) Its rigidity     (iii) Intermolecular force of attraction 
(ii) Its shape     (iv) Its ability to intermix with other solids 
 



e. Which of the following is the property of solid? 
(i) Can be compressed    (iii) Have law density 
(ii) Have definite shape    (iv) Intermolecular force is less 

_________________ 



KRISHNAGAR ACADEMY 
HALF-YAERLY (PHASE-II) EXAMINATION 

CLASS-VIII 
SUBJECT-ENGLISH (PAPER-I) 

 FULL MARKS: 50 
Question 1.  
Write a composition on any one of the following topics:    [15] 
a) Give an account of a religious festival at which you were present. 
b) In your summer vacations you had to visit a place of comfort and natural beauty. 
Describe your experience of it. 
c) Narrate an incident of extreme bravery which you come to know or you were 
involved in it. 
Question 2.  
Select one of the following:         [10] 
a) Write a letter to your cousin congratulating her on being selected in the final 
round of inter-school singing competition and wishing her good luck for the 
competition.  
b) Write a letter to the principal of your school requesting him to start special hobby 
classes during the summer vacation. 
Question 3.  
Read the following passage and answer the questions: 

It is important to keep a level head at all times. However, there are two 
occasions when keeping a level head is absolutely necessary – when we achieve a 
big success and when we make bad failure. An exceptional success usually inflates 
our ego and makes us boastful; a miserable failure fills us with dejection and makes 
life meaningless. Both these experiences are common in student life. A brilliant 
performance in one examination turns one’s head while a dismal result in another 
makes one feel as if this were the end of the world. Both these reactions are equally 
flawed. Superiority complex is as deplorable as inferiority complex.  

To be successful in life, one should be in total control of oneself, one should 
remain unmoved both by the ups and downs of life, for he who gets broken by a 
stroke of bad luck is equally likely to get broken by a run of good luck too. No 
progress is possible in either case.  

  How can one keep a level head? If our value system is correct, we will not get 
easily strayed in life. If a businessman gives greater importance to health, character, 
a happy family and a friendship than to money, he will not lose his head if he 
suddenly turns rich or if there is a slump in business and his income suddenly goes 
down. Similarly, if a student’s focus is on acquiring knowledge, or on personality 
development, one performance whether exceptionally good or bad, will not destroy 
his or her balance.  

We should also remember that nothing is permanent in this world. Neither good 
fortune will keep smiling at us nor bad luck keep hounding us all the time. Both 



prosperity and adversity are bound to pass, to be swallowed by a shadowy past. 
Why then rejoice in one and grieve at the other? 

A. Answer the following questions: 
1. On what two occasions is it most important to maintain one’s balance? 
2. What are the usual consequences of an exceptionally good performance or 

a very bad result? 
3. What should be a student’s attitude towards his/her studies? 
4. What great reality of life can help us to remain cool in all situations? 

B. Find words from the passage which mean the following: 
1. poor, hopeless  
2. a sudden fall in sales, prices 

Question 4:          [15x1=15] 
a) In each of the following sentences replace the underlined adjectives by an 
adjective phrase of the same meaning:         
1) She wore a diamond necklace. 
2) A valuable ring was found yesterday. 
3) He is a professional cricketer. 
b) Replace the adverbs which are underlined by an adverb phrase of the same 
meaning:  
1) The dying man replied feebly. 
2) They have only recently arrived. 
3) He spoke eloquently. 
c) Pick out the noun phrases in the following sentences: 
1) The wicked vizier loves getting people into trouble. 
2) Horses prefer living in dark stables. 
3) He denies stealing the money. 
d) Replace each of the following underlined adjective phrases by an adjective of the 
same meaning: 
1) He wore a turban made of silk. 
2) Nobody likes a person with a bad temper. 
3) Nelson was a boy without fear. 
e) Pick out the adverb clauses in the following sentences: 
1) They went where living was cheaper. 
2) Take a lamp because the night is dark. 
3) If you eat too much you will be ill. 

------------------ 
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I) Read the extract below and the answer the question that follow: 
A. 

“Six humans trapped by happenstance 
In bleak and bitter cold 

Each one possessed a stick of wood 
Or so the story’s told.” 

1) Explain the meaning of “happenstance” and “bleak”.   2+2 
2) What did the people do with “stick of wood”?    3 
3) What did the “third man” think?      4 
4) What did the “first man” do?       3 
5) What did the “rich man” think?      2 
 
B. 

“Their logs held tight in death’s still hands was proof of human sin. 
They didn’t die from the cold without 

They died from the cold within.” 
i) Justify the title of the poem “The Cold Within”.    4 
ii) What did the “last man” do?       4 
iii) What do the “logs” denote?       3 
iv) Who are “they” referred to here? Where were they?   3 
v) What massage does the poet convey through the poem?  2 
 
II)    The Merchant of Venice  
1) Why did Antonio and Bassanio went to Shylock together? What Shylock did? 
Explain the brief.         4 
2) “The happiness of these lovers was sadly crossed …….” Who are ‘these’ lovers 
and why they were sad?        2+2 
3) In what disguise Portia went to save Antonio? How did see react when the trial 
first began?          1+3 
4) “Portia hearing this, seemed very angry,…”Why Portia is angry? What 
happened?           4 
5) How much money did Antonio went take or lend from Shylock?  2 
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Q1. Mark the following on the on the outline map of India:   10x1=10 
a) Karakoram Range b) Western Ghat  c) Decan Platean d) Tropic of cancer 
e) Nilgiri Hills f) Vindhya Range g) Gulf of Kuchch h) Gulf of Mannar 
i) Malwa Plateau 
Q2. Answer in short form:         5x2=10 
a) What is Population Dynamics? 
b) Define Population Distribution? 
c) Name the most densely populated country in the World. 
d) What do you understand by ‘population change’? 
e) What is the difference between immigration and emigration? 
Q3. a) What is meant by population? How does population act as a resource? (2) 
b) Define population density. Name two areas of high density population and low 
density population.           (2) 
c) What is population composition? Why is it important?    (2) 
d) Distinguish between Internal and International migration.    (2) 
e) Write the factors which affect the population density     (2) 
Q4. a) What is overpopulation?         (1) 
b) Write the impact of overpopulation.        (3) 
c) Why the people move out of their country?      (2) 
d) Write a short note on Census?         (2) 
e) Sex ratio is an important indicator of the status of women in a country – why? (2) 
Q5. a) What is population pyramid? What is its significance?    (3) 
b) Write the characteristic of population pyramid in underdeveloped countries.  (2) 
c) State one positive and one negative effects of under population.   (2) 
d) Why India is considered as Developing country?     (3)  

________ 
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Attempt all questions from Section-A and Section-B 
  

Section-A (20 Marks) 
Question 1.            
a) Rajesh bought an A.C. for ₹38500 including 10% GST. Find the price of AC 
before GST was added.          (3) 
b) Find the value of x for which 

 ��− 2
7
�
2
�
𝑥𝑥

× �− 7
2
�
−1

= − 8
343

         (2) 

c) Find the amount and compound interest on ₹2500 in 2years if the rates are 5% 
and 6% for the successive years.         (3) 
d) Factorise: 𝑥𝑥2 + �𝑎𝑎 + 1

𝑎𝑎
� 𝑥𝑥 + 1            (2) 

Question 2: 
a) Find twenty rational numbers between −3

7
 and 2

3
      (3) 

b) Area of a square is 4 m2 more than 2
3
 of the area of a rectangle. If the area of the 

square is 64 m2, then find the dimensions of rectangle, given that the breadth is 2
5
 of 

the length.              (3) 
c) Rahul can do 2

7
 of a certain work in 6 days while Suresh can do 3

5
 of the same 

work in 9 days. They started work together but after 7 days Rahul left the work. 
Find in how many days Suresh can complete the remaining work?   (4) 

 
Section-B (30 Marks) 

 
Question 3: Factorise the following: 
a) 625 − p4 
b) 𝑥𝑥4 − 𝑦𝑦4 + 𝑥𝑥2 − 𝑦𝑦2 
c) 4𝑎𝑎2 − 4𝑏𝑏2+4𝑎𝑎2 + 1 
d) 14(𝑎𝑎 − 3𝑏𝑏)3 − 21𝑝𝑝(𝑎𝑎 − 3𝑏𝑏) 
e) 2𝑦𝑦2 + 𝑦𝑦 − 45           (5x2=10) 
Question 4:  

a) Simplify: [2−1 + 30 + 51 + 72 + 93]  ÷ �2
3
�
−1

     (2) 

b) Prove that (𝑎𝑎 + 𝑏𝑏)−1(𝑎𝑎−1 + 𝑏𝑏−1) = (𝑎𝑎𝑎𝑎)−1      (2) 

c) By what number should �− 3
2
�
−4

 be divided to get �− 2
3
�
3
    (2) 

d) Evaluate: 𝑥𝑥𝑝𝑝

𝑥𝑥𝑝𝑝+𝑥𝑥𝑞𝑞
+ 1

𝑥𝑥𝑝𝑝−𝑞𝑞+1
         (2) 

e) Evaluate: �𝑥𝑥
𝑝𝑝

𝑥𝑥𝑞𝑞
�
𝑝𝑝+𝑞𝑞

× �𝑥𝑥
𝑞𝑞

𝑥𝑥𝑟𝑟
�
𝑞𝑞+𝑟𝑟

× �𝑥𝑥
𝑟𝑟

𝑥𝑥𝑝𝑝
�
𝑟𝑟+𝑝𝑝

       (2) 



Question 5:  
a) Marked price of an article is ₹2860 and rate of GST is 8%. Shopkeeper allows a 
discount of 20% and still makes a profit of 10%. If he spent 4% as overheads, then 
find the original cost price of the article and final selling price including GST. (4) 
b) Find the sum invested for 1½ years compounded half yearly at the rate of 8% p.a. 
that will amount to ₹17576.          (3) 
c) The difference between the compound interest and the simple interest on ₹42000 
for two years is ₹105 at the same rate of interest per annum. Find (i) the rate of 
interest (ii) the compound interest earned in second year.    (3) 

____________ 
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Section-A  
Question 1.           (5x2=10) 
a) Define the term relative density of a substance. 
b) Name the SI unit of density. How is it related to gcm-1? 
c) Arrange the following substances in order of their increasing density: Iron, Cock, 
Water, Mercury. 
d) Distinguish between density and relative density. 
e) The density of brass is 8.4g/cm3. What do you mean by the statement? 
Question 2.           (5x2=10) 
a) State two effects of a force when applied on a body. 
b) Define the term moment of force. 
c) State the SI unit of force and moment of force. 
d) (i) 1 kgf = __________ N(nearly) 
 (ii) In a door, handle is provided _________ from the hinges. 
e) What will be the changes when force applied on a rigid body and a non-rigid 
body? 
Question 3.           (5x2=10) 
a) (i) The weight of a body floating in a liquid is __________. 
(ii) The density of a body which sinks in water is ____________ than 1000 kg/m3. 
b) Sate the law of floatation. 
c) Match the following 

Column A Column B 
a) Wood i) density bottle 
b) No unit ii) floats on water 
c) Iron iii) relative density 
d) Relative density iv) sinks in alcohol 

d) State two applications of floatation. 
e) A piece of iron of volume 30 cm3 has a mass of 234g. Find the density of iron. 
 

Section-B 
Question 4: 
a) What do you mean by the clock wise and anti clock wise moment of force? (4) 
b) Explain the following: 
The steering wheel of a vehicle is of large diameter.     (3) 
c) The moment of a force of 25N about a point is 2.5Nm. Find the perpendicular 
distance of force from that point.         (3) 
Question 5: 
a) The density of air is 1.28g litre-1. Express it in (i) g cm-3 (ii) kg m-3   (2+2) 
b) It is easier to swim in sea water than in river water. Explain the reason. (3) 
c) For a floating body, how is its weight related to the buoyant force?  (3) 

_________________ 
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